
jmwq 9th  (Class 9
th)

  

ie`k nMbr vwly pRSn (one marks question) 
1.    

35

100
dw dSmlv rUp ikho ijhw hovygw : 

      The decimal form of 
35

100
 is equal to ….. 

      (A) 3.5      (B)35.0     (C) 0.35       (D) 3500 
2.  

1

 7
 dy hr dw pirmyXIkrx krn qy swnMU pRwpq huMdw hY: 

    On rationalizing the denominator of
1

 7
 we get 

     (A) 7      (B) 7       (C) 
 7

7
        (D) −

 7

7
 

3.  64
1

2  dw mu`l …… 

    The value of 64 
1

2 is …..          
   (A) 8      (B)16       (C) 32        (D) 4 

4.  7
3

 dw Gwq AMk rUp … 

    The exponent form of  7
3

 is…     

   (A) 73      (B)37     (C) 7
1

3       (D) 3
1

7 

5.hyTw idqy kQnW ivco ikhVw shI hY? 
A)hryk pUrn sMiKAw ie`k pRwikRiqk sMiKAw huMdI hY[ 
B)hryk sMpUrn sMiKAw ie`k pUrn sMiKAw huMdI hY[ 
C)hryk pirmyX sMiKAw ie`k sMpUrn sMiKAw huMdI hY[ 
  D)hryk sMpUrn sMiKAw ie`k pirmyX sMiKAw huMdI hY[ 

Which of the following is true? 

     (A) Every whole number is a natural number. 

    (B) Every integer is a whole number. 

     (C ) Every rational number is an integer. 

     (D) Every integer is a rational number. 
6. 

1

 𝑎+ 𝑏
dy hr dw pirmyXIkrx krn leI AsIN ies nMU guxw krwgy… 

     To rationalize the denominator of 
1

𝑎+ 𝑏
 we multiply this by…… 

      (A) 
1

𝑎+ 𝑏
      (B)

1

𝑎− 𝑏
    (C) 

𝑎− 𝑏

𝑎− 𝑏
    (D) 

𝑎+ 𝑏

𝑎+ 𝑏
 

(7)  3 Aqy  5  dy ivckwr pirmyX sMiKAwvW dI igxqI… 

     The number of rational numbers between  3  and  5 is… 

       (A) 1          (B) 3      (C) none (ienHW iv`coN koeI nhIN)              (D) infinitely many (Axgixq) 
8.  n dI kImq iks leI  𝑛 ie`k pirmyX sMiKAw hY? 
    The value of n for which  𝑛 be a rational number is: 

     (A) 2          (B)  4     (C) 3     (D) 5 
9. jykr 10 =3.162 qW 1

 10
dw mu`l kI hovygw? 

If  10 =3.162 then the value of 
1

 10
is : 

 (A) 0.3162    (B)  3.162     (C) 31.62   (D) 316.2 



10.iksy pirmyX sMiKAw nMU p/q dy rUp ivc drswauNdy hW ies leI zrUrI Srq ikhVI hY? 
 What is the condition for which p/q represent a   rational number? 

 (A)q≠0      (B)q=0   (C)p=0      (D)p≠0 
11.hyT iliKAw iv`coN AsIN iks nMU pirmyX sMiKAw dy rUp ivc drsw skdy hW? 
(A)pRwikRqk sMiKAw        (B)pUrn sMiKAw    
(C)sMpUrn sMiKAw          (D) swrIAW 
Which of the following can be represents in the form of rational numbers….. 
(A)Natural numbers     (B)Whole numbers   

(C)integers                   (D)all of these 
12. pirmyX sMiKAwvW dw dSmlv ivsqwr ikho ijhw huMdw hY? 
 (A)ASWq AwvrqI       (B)SWq 
(C)ASWq Ax-AwvrqI   (D) SWq Aqy ASWq AwvrqI 
What is the decimal representation of rational numbers? 

(A)non -terminating        (B)terminating  

(C) non -terminating and  non-recurring     (D)Terminating ,non-terminating and Reccuring 
13. p/q form of  0.235dw p/q:                                     
   0.235 dw p/q rUp: 
 (A)    

233

990
   (B) 

235

990
  (C)  

235

900
     (D) 

235

999
 

14. hyT id`qIAW sMiKAwvW ivco ikhVI sMiKAw ApirmyX sMiKAw hY? 
       From the given numbers which is a rational number? 

    (A) (3+23)-23  (B) 2-5   (C) 25  (D) 
2 7

7 7
 

15. iek gYr-is&r pirmyX sMiKAw Aqy ie`k ApirmyX sMiKAw dw guxnPl hY: 
(A) hmySw ApirmyX  (B) hmySw pirmyX   
(C) iek             (D) pirmyX jW ApirmyX 
The product of a non-zero rational number with an irrational number is ? 
(A) Always irrational   (B) Always rational   

(C) 1                           (D) Rational or irrational 
16. ie`k pirmyX sMiKAw Aqy ie`k ApirmyX sMiKAw dw joV jW Gtwau,ie`k ………..huMdw hY[ 
 (A) hmySw ApirmyX     (B) hmySw pirmyX   
 (C) 1                   (D) pirmyX jW ApirmyX 
The addtion and difference of a rational number and an irrational numbers ….. 
 (A) Always irrational   (B) Always rational   

 (C) 1                            (D) rational or irrational 
17.   iksy Gtnw dy vwprn dI sMBwvnw huMdI hY? 
What is probability of occurence an event E? 

 (A)  p(E)=1 (B)  0≤P(E)≤1  (C)  0   (D)  P(E)≥1 

18. iks vwsqivk sMiKAw dw mu`l 2 Aqy 2.5 dy ivckwr hY? 
Which real number lies between 2 and 2.5? 

  A) 11    (B) 5     (C) 37     (D) 39 

19. jykr 547.527

0.0082
=x hovy qW  547527

82
 dw m`l kI hovygw? 

If   
547.527

0.0082
=x then the value of  

547527

82
  is ? 

 A) 
𝑥

10
       (B) 10x     (C) 100x        (D) 

𝑥

100
 

20.  mUl ibMdU dy inrdyS AMk kI huMdy hn ? 



What are the coordinate of origin? 

 (A) (x,0)   (B) (0,y)   (C) (0,0)       (D) 0 

21. auh ibMdU ik`Qy siQq huMdw hY ijsdy dovyN inrdyS AMk irxwqmk huMdy hn : 
(a) pihlI cOQweI         (b) qIjI cOQweI    
(c) x – Dury qy             (d) y – Dury qy 
What is the position of point whose both coordinates having negative sign? 

 A)First quadrant     (B) Third quadrant   
(C)on x-axis            (D)On y axis 

22. mUl ibMdU siQq huMdw hY : 
 (a) pihlI cOQweI     (b) isrP x-Dury ‘qy 
(c) isrP y-Dury ‘qy     (d) x Aqy y donW DuirAW ‘qy 
Origin lie on….   

A)First quadrant      (B) On x-axis only      (C)on y-axis only     (D)both x-axis and y axis 
 

23. 𝑥 Dury qy siQq iksy ibMdU dy inrdyS AMk kI huMdy hn? 

What are the coordinates of any point lie on x-axis?    A)(x,0)        (B)(0,y)       (C)(0,0)        
(D)(0,1) 
24. lytvIAw Aqy KVvIAW ryKwvW qoN bxy smql dy hryk Bwg dy kI nW hY ?  
(a) cOQweI  (b) smql   (c) x – Durw     (d) y – Durw 
What is the name of all parts made by horizontal and vertical line? 

 A)quadrant  (B) Plane  (C)x-axis   (D) y axis 

25. 𝑦-Dury qy siQq iksy ibMdU dy inrdyS AMk kI huMdy hn? 
What are the coordinates of any point lying on y -axis? 

 A)(x,0)      (B)(0,y)      (C)(0,0)          (D)(1,0) 

26.ie`k ibMdU dy duAwly bxy koxW dw joV ikMnw huMdw hY? 
The sum of angles around a point is….. 

  A) 00       (B) 900       (C) 1800          (D) 3600 

27.jy do ryKwvW dy joVy nUM ie`k kwtvIN ryKw k`ty qW ikMny kox  bxdy hn : 
How many angles are formed when a transversal  intersects two parallel lines? 

(a)  6            (b)  3                 (c)  8         (d)  4 
28.do kwtvIAW ryKwvW duAwrw bxy…………… kox brwbr huMdy hn[ 

 A) ryKI joVW                       (B) is^r snmu`K  
  (C) sMgq kOx                (D) iekWqr  
When two lines  intersect at a point then …….angles are equal. 

 A) Linear pair              (B) Vertically opposite  (C) Corresponding       (D) Interior  
29. jykr koeI ikrn iksy ryKw ‘qy KVI hY qW lwgvyN koxW dw joV kI huMdw hY? 
When a ray stand on a line then what is  the  sum of adjacent angles? 
 (a) 1000      (b) 1800       (c)      900        (d) 3600 
30. irPlYks kox dw mwp :    
Measure of reflax angle : 
 (i)   900                         
 (ii)  00  Aqy  900  dy ivckwr (between 00  and 900 ) 

 (iii)900  Aqy 1800  dy ivckwr (between 900 and1800 ) 

(iv)1800  Aqy 3600   dy ivckwr(between 1800 and 3600) 



31. do smWqr ryKwvW qy kwtvIN ryKw nwl bxy ie`ko pwsy dy AMdrly koxW dw joV ……… huMdw hY[ 
Angles made on same side by  transversal and  two parallel lines: 

 (a) 1000        (b) 1800       (c) 900          (d) 3600 
32.iqRBuj iv`c sB qoN v`fy kox dI snmu`K Bujw bwkI BujwvW qoN huMdI hY : 
 (a) v`fI    (b) CotI  (c) brwbr(d) iehnW iv`coN nhIN 
The side  opposite to the largest angle of a triangle is…… 
(a) largest            (b) smallest       
(c) equal              (d) none of these 
33.jykr △ABC ≅△PQR , qW  AB=………… 

If  △ABC ≅△PQR , then  AB=……………    

 A)PQ   (B)QR    (C)PR     (D)ienHW iv`coN koeI nhIN(None of these) 

34.jy cqrBuj dy snmu`K koxW dw joV………hovy,qW cqurBuj ck̀rI cqrBuj huMdI hY[ 
If sum of two opposite angles of quadrilateral is ………then it is a cyclic quadrilateral. 
(a) 1000       (b) 1800        (c) 900    (d) 3600 
35. Gx dI vkr sqHw dy KyqrPl dw sUqr ilKo[ 
Write the formula for curved surface area of cube: 

 (a) a2            (b) a3            (c) 4a2       (d) 6a2 
36. iksy Gtnw dy swry pirxwmW dI sMBwvnw dw joV ikMnw huMdw hY? 
What is the probability of all the outcomes of an experiment? 

 (a)  >1                                                   (b)    <1                                                    (c) 0 Aqy1 dy 
ivckwr(between 0 and 1)   (d) 1 

37.  smBujI iqRBuj dy hryk kox dw mwp d`so[ 
Measure of each angle of an equilateral triangle is …. 

 (a) 600              (b) 1800            (c) 900        (d) 3600 
38. c`kr dI sB qoN v`fI jIvw nMU ……kihMdy hn[ 
(a) kyNdr(b) ArDivAws(c)ivAws(d) Sprs ryKw 
Largest chord of a circle is called ……… 

(a) centre  (b) radius    (c) diameter (d) tangent 
39. SMkU dy Awieqn  dw sUqr ilKo[ 
Write the Formula for volume of  a cone. 

(a) 
4

3
rh      (b)  

4

3
r2h      (c) r2h      (d)  

1

3
r2h  

40. ie`k pwsy nUM ie`k vwr su`itAw jWdw hY[ie`k ABwj sMiKAw hox dI sMBwvnw pqw kro? 

What is the probability of getting a prime number when a die(dice) is thrown once? 

  (a) 
2

6
               (b) 

1

6
                (c) 

3

6
              (d) 

0

6
 

41. iksy c`kr dw kyNdr ck̀r dy……………iv`c siQq hY[(bwhrI Bwg/ AMdrly Bwg) 
The centre of circle lies on ………part of the circle.(interior/exterior) 

42. smWqr cqrBuj dy lwgvyN koxW dw joV ikMnHw huMdw hY? 
What is sum of adjacent angles of  a parallelogram? 

 (a) 600  (b) 1800            (c) 900        (d) 3600 
43. smkox iqkox dI sB qoN v`fI Bujw… huuMdI hY[ 
a) ADwr (b) lMb  (c) krx  (d) ienHW iv`coN koeI nhIN 



Largest side of a right angled triangle is…….. 

(a) Base                     (b) Perpendicular         
 (c) Hypotenuse      (d) None of these 
44.hyT ilKy cqurBujwvW iv`coN ikhVI smWqr cqrBuj nhI hY: 
(a) smcqrBuj                  (b) vrg 
(c) smlMb cqrBuj       (d) Awieq 
Which of following is not a parallelogram? 

(a) Rhombus             (b) Square       
 (c) Trapezium         (d) Rectangle 
45.c`kr dI cwp Aqy……… ivckwr bxy KyqrPl nUM c`krKMf kihMdy hn[ 
(a) jIvw(b) ArDivAws(c) ivAws(d) ArD-c`kr 
The area made between arc and ………….is called segment 
(a) chord (b) radii (c) diameter   (d) semi-circle 
46. ArD gooly dy Awieqn dw sUqr ilKo[ 
Formula for volume of semi circle 

 (a) 
4

3
rh    (b)  

2

3
r3    (c)  r2h       (d)  

1

3
r2h  

47. jy P(E)= 0.25  qW P(E nhI) dw mu`l hovygw :  
  If P(E)= 0.25 then P(not E)                  

  (a)  0.5          (b) 1         (c) 0          (d) 0.75 

48. smql iv`c iksy ibMdU dI siQqI inrDwirq krn vwlIAW lytvIAw Aqy KVvIAW ryKwvW dy  
kI nW hn ? 
What is the name of horizontal and the vertical lines drawn to determine the position of any 
point in the Cartesian plane? 
49. iksy iqRBuj ivc iksy do BujwvW dw joV qIsrI Bujw qoN …………. huMdw hY[ 
(a) v`fw   (b) Cotw (c) brwbr   (d)ienHW iv`coN koeI nhIN 
In triangle the sum of two sides always …………….than the third side. 

 (a)   greatest                          (b) smallest   

 (c) equal                                (d) none of these 

50. cqurBuj dy cwry koxW dw joV ikMnw huMdw hY ? 
What is the sum of four angles of a quadrilateral? 
(a) 600   (b) 1800            (c) 900        (d) 3600 

51. iksy c`kr dIAW srbMgsm cwpW kyNdr ‘qy smwn kox bxwauNdIAW hn[(shI jW glq) 

Equal chords of a circle subtend equal angles at the centre.(true/false) 
52. ArD goly dI ku`l sqHw dy Kyqr&l dw sUqr ilKo[ 
Write the formula for finding the total surface area of a hemisphere? 

(a) 2r2          (b)3r2        (c) 4r2     (d) 3r  
53 . iksy Gtnw dy vwprn dI sMBwvnw 45% hY qW aus Gtnw dy nw vwprn dI sMBwvnw ikMnI hovygI? 
If the probability of occurance an event is  45%.then what is the probability of it’s non- 

occurence? 

 (a)  0.45          (b)  1           (c)  0.55        (d)  0 

54. hyT ilKy iv`coN iqRBujW dI srbMgsmqw dw inXm ikhVw hY? 



Which of the following is a rule of congruence of triangles? 

(a) SAS    (b)   ASS  (c)   SSA   (d)  none of these 

 
cwr nMbrW vwly pRSn: 
Four marks questions:  
55.imlwx kro :     

(i) ie`k cqurBuj smlMb    (a) ijsdw hryk kox  
   huMdI hY                     90° dw hovy 
(ii)ie`k cqurBuj smWqr   (b) ijsdIAW swrIAW  
    cqurBuj huMdI hY          BujwvW brwbr hox 

(iii)ie`k Awieq           (c) snmu`K BujwvW dw 
                             ie`k joVw smWqr hovy                         
(iv)ie`k smcqurBuj      (d)  snmu`K BujwvW dy    
                             joVy smWqr hox 
 
56.imlwx kro :       
(i) ryKI joVw                  (a) krx 
(ii) isKr snmuK kox          (b) 1800 Aqy 3600  dy          
                              ivckwr 
 (iii) irPlYks kox            (c) joV 1800 
 (iv)   smkoxI iqRBuj          (d)   brwbr 
 
 

 
  

 57. imlwn kro :      
 (i)  smcqurBuj              (a)   3600 

 (ii) pqMg                    (b)smlMb cqurBuj 

 (iii) cqurBuj dy swry koxW    (c) ijsdIAW swrIAW  
    dw joV                     BujwvW brwbr hox 

(iv) smWqr cqurBuj nhIN      (d) ijsdIAW lwgvIAW                                
                                BujwvW dy joVy 
                                brwbr hox[ 

58 imlwn kro  
 (i)ArD c`kr iv`c bixAw kox  (a)  𝜋r2 
 (ii) c`kr dy ie`ko KMf           (b) 2𝜋r           
     iv`c bxy kox  

 (iii)  c`kr dw KyqrPl               (c)  smkox 

(iv)  c`kr dw Gyrw              (d)  brwbr 
  

59 imlwx kro:- 

 (i)  c`kr dI jIvw Aqy      (a) ie`ko kyNdr vwly c`kr 

iesdI cwp ivclw Kyqr      
 (ii)  Gyry dw Bwg            (b) pUry c`kr dI lMbweI 

   55. Match the following:  
  (i) Quadrilateral is trapezium   (a) each angle is 90 

  (ii)Quadrilateral is                   (b) All sides are equal 

      Parallelogram 

  iii) Quadrilateral is rectangle  (c) One pair ofopposite  

                                                         sides are parallel 

   iv) Quadrilateral is rhombus  (d) both pair of opposite  

                                                         sides are parallel 

 

56. Match the following  

(i) linear pair  of angles               (a) hypotenuse    

(ii) vertically opposite angles     (b) between 180
0
 

                                                        and 360
0 
 

 (iii) Reflex angle                       (c) sum 180
0
 

 (iv) Right-angled triangle         (d) equal
 

 

57.  Match the following 

 (i) Rhombus                   (a) 360
0
 

 (ii) kite                      (b) Trapezium 

(iii) Sum of all angle of  a          (c) All four are sides        

Quadrilateral                            are  equal 

(iv) Not a parallelogram           (d) pair of adjacent  

                                                    sides are equal 
 

58.Match the following : 

                     

(i) Angles in semicircle              (a) 𝜋r2 

(ii)Angles in same segments      (b) 2𝜋r 

(iii) Area of circle                       (c) right-angle   

 (iv) Circumference of circle      (d) equal  
 

59.    Match the following 

(i) part between chord  and arc    (a) same centre  
(ii)part of circumference             (b) length of whole   

                                                          circle  

 (iii) concentric circle                  (c) segments  

 (iv)  circumference                     (d) arc of circle   



(iii) smkyNdrI c`kr                (c) c`krKMf 

 (iv) Gyrw                    (d) c`kr dI cwp 
 
 
60. Match the following  

 (i)Linear Pair of angle      (a) Between 90
0
 and 180

0 
(ii)Reflex angle                  (b) ASA 

 (iii) Obtuse angle               (c) 180
0
 

 (iv) Rule of congruence    (d) Between 180
0
 and  

                                                360
0 

 
 
 
 

61 . Match the following 

(i) angle of equilateral triangle    (a) AB=PQ 
(ii) Rule of congurance                 (b) Equal 

(iii) if △ABC ≅△PQR                 (c) 60
0
 

(iv) sides opposite to equal angle   (d) SAS 

 

 

 

 

62. Match the following  

 (i) diameter of   circle         (a) segment 

 (ii) arc of circle                    (b) area of sector  

 (iii) area between chord     (c) part of  

        and arc                              circumference 

(iv) part between two          (d) largest chord.
 

      radii and arc      

 

             

 

 

63. Match the following (imlwx kro) 
Polynomial                   degree of polynomials 

(bhupd)                (bhupd dI Gwq) 
 (i)   5t-7                                    (a) 2 
 (ii) y

2
+1                                    (b) 0 

 (iii) 3                                        (c)  3 
 (iv) 2-x

3
+x                                (d)  1 

 
65 Match the following  

 (i) angle of semi circle            (a) only one centre 

(ii)angle of circle                     (b) circumference of         

                                                       circle  

 (iii) concentric circles            (c) 180
0
 

 (iv) length of whole circle     (d) 360
0 

60. imlwn kro :      
(i)ryKI joVw kox           (a) 90

0 Aqy 180
0 dy  ivckwr 

(ii)  irPlYks kox              (b) ASA 

(iii)  AiDk kox                  (c) 1800 

 (iv)srbMgsmqw dI ksOtI (d)180
0Aqy 360

0dy  
                              ivckwr 

 

61 imlwn kro :    
 (i)smBujI iqRBuj dy kox            (a) AB=PQ 
 (ii)  srbMgsmqw dI ksOtI       (b)    brwbr 
(iii)  △ABC ≅△PQR qW         (c) 600 

 (iv) smwn koxW dIAW          (d)    SAS 

     snmu`K BujwvW 
 

62.  imlwn kro :      
i)  c`kr dw ivAws           (a) c`krKMf 

 (ii)  c`kr dI cwp           (b) ArD ivAwsI KMf 

(iii) c`kr dI jIvw Aqy      (c)  Gyry dw Bwg 
    iesdI cwp ivclw Kyqr  
(iv) c`kr dy do ArD        (d)   sB qoN v`fI jIvw 
    ivAwsW  Aqy iesdI  
    cwp ivclw Kyqr 

 

65. imlwn kro :   
(i)ArD c`kr dy            (a) ie`ko kyNdr 
   kox dw mwp 

(ii) c`kr dy kox dw mwp       (b) c`kr dw Gyrw 
 (iii) smkyNdrI c`kr        (c)  180°  

(iv) pUry c`kr dw mwp          (d)  360° 



 

 

 

66.Match the columns 

(i) Perimeter of triangle                  
𝑎+𝑏+𝑐

2
 

     having sides a,b and c 
(ii) Area  of triangle having            a+b+c 

     sides a,b and c                                    
(iii)area of equilateral             𝑠(𝑠 − 𝑎)(𝑠 − 𝑏)(𝑠 − 𝑐) 
    triangle 
(iv) Semi-perimeter of triangle             

 3

4
𝑎2  

 
 
 
 
 
 67 )  imlwx kro 

(i) dIrG ck̀r KMf (Major segment)           

 

(ii) lGU ArD ivAwsI KMf (  Minor sector) 

 

(iii) dIrG cwp ( Major Arc) 

 

        (iv) lGU cwp ( Minor arc) 

 

68. Match the following 

 (i) Natural numbers                              (a) W 

 (ii)Whole numbers                                (b) Q 

(iii) Integer                                            (c) N 

 (iv) rational numbers                           (d) Z
 

  
 
 
 
 
 
69. Match the following  

(i) Natural numbers               (a) (0,1,2,3,……..) 
(ii)Whole numbers                (b) (p/q, where q≠0)  

 (iii) Integer                          (c) (1,2,3,………)  

(iv) rational numbers            (d)(…,-2,-1,0,1,2,.) 

66.imlwx kro 
(i)  a,b Aqy c BujwvW vwly                   𝑎+𝑏+𝑐

2
 

   iqRBuj dw pirmwp                                        
 (ii) a,b Aqy c BujwvW vwly            a+b+c 

   iqRBuj dw KyqrPl                                       
 iii)smBujI iqRBj dw             𝑠(𝑠 − 𝑎)(𝑠 − 𝑏)(𝑠 − 𝑐) 
   KyqrPl 

(iv) iqRBuj dw ArD pirmwp            3

4
𝑎2 

 

68.   imlwx kro :       
  (i)   pRwikRqk sMiKAwvW                  (a) W 

  (ii)   pUrn sMiKAwvW                         (b) Q 

 (iii)  sMpUrn sMiKAwvW                        (c) N 

 (iv)  pirmyX sNiKAwvW                      (d) Z 
 

69.imlwx kro :       
(i)   pRwikRqk sMiKAwvW        (a) (0,1,2,3,……..) 

 (ii)   pUrn sMiKAwvW         (b) (p/q, where q≠0) 

 (iii)  sMpUrn sMiKAwvW       (c) (1,2,3,………….) 

(iv)  pirmyX sNiKAwvW          (d) (…..,-2,-1,0,1,2,….) 
 



 

 

70. Match the following (imlwx kro) 
(i) 𝑎𝑝  .𝑎𝑞                             (a) 𝑎𝑝−𝑞  

(ii) (𝑎𝑝)𝑞                             (b) (𝑎𝑏)𝑝          

 (iii) 
𝑎𝑝

𝑎𝑞
                                (c) 𝑎𝑝𝑞  

 (iv) 𝑎𝑝𝑏𝑝                           (d) 𝑎𝑝+𝑞  

 

71. Match the following (imlwx kro) 
 (i)  𝑎𝑏                                      (a) a-b 

 (ii) 
𝑎

𝑏
                                        (b) 𝑎2-b 

 (iii) ( 𝑎 + 𝑏)( 𝑎 - 𝑏 )          (c)  𝑎 𝑏 

  (iv)  (a+ 𝑏  ) (a- 𝑏 )             (d) 
 𝑎

 𝑏
 

 

72.Match the following : (imlwx kro) 
polynomial(bhupd)     cofficent of x

2
(x

2dw guxWk) 
(i) 2+x

2
+x                              (a) -1 

(ii) 2-x
2
+x                              (b)  

(iii) x
2
+x                              (c)  0 

 (iv) 2+x                                (d)  1 

 

73. Match the following : (imlwx kro) 
polynomial                   zero of polynomials 

(bhupd)                  (bhupd dy mUl) 
   (i) x+5                              (a) -5/2 

   (ii) x-5                              (b) -5 
   (iii) 2x+5                         (c)  5/2 

   (iv) 2x-5                          (d)  5 

 

 
 


